¥
0
R

Em

Since 1912

C

<

ARG A
A A9
R
AL R

Ry
SN N

7
o
A
5
2
X

A
R
ARG

o

BONANS SN
NN RY

R,

PRI B

A RN

7

2
NG

AN
NN
X

A

o

N7

s

o
2
N
R

o

o
S A

R

NN NN
////,.r/,.////\\/.\\/.

NRLRRRIUA
R AR

o
N
N
N

D
N
N
2
S
X
X
N
X
o

NN RN

A RRARRRR
NN

RLLLLRRNRG,
R
A
AR R R R

K

LR

CHANCE® INSTANT FOUNDATIONS™

PRODUCT CATALOG

HUBBELL



Em

g I Since 1912

DISCLAIMER

Disclaimer: This catalog is provided as a guide to assist in product identifica-

tion only. The information contained is for general information purposes only.

The information is provided by Hubbell Power Systems, Inc. (“HPS”), and while
we endeavor to keep the information up to date and correct, we make no repre-
sentations or warranties of any kind, express or implied, about the completeness,
accuracy, reliability, suitability or availability with respect to the catalog or the in-
formation, products, services, or related graphics contained in the catalog for any
purpose. Any reliance you place on such information is therefore strictly at your
own risk and HPS shall not be responsible for the adoption, revision, implementa-
tion, use or misuse of this information or its products herein. HPS recommends an
independent engineering analysis of the installation (including soil and structure)
conditions to determine the appropriate product for the intended use.

Contact us:

Hubbell Power Systems, Inc.

210 North Allen Street

Centralia, MO 65240

Ph: 855.477.2121

Email: civilconstruction@hubbell.com
chancefoundationsolutions.com



INTRODUCTION

The original lighting foundation prototypes were developed by A.B. CHANCE Com-
pany in the late 1960’s, and the CHANCE® brand Instant Foundations™ continue to
be an economical solution to all lighting foundation requirements. These immediate
installation anchors have high-strength pipe shafts to resist bending moments and
installation torque.

Lighting applications include street, roadway, parking lot, signage, sports lighting,
airport, decorative, and various architectural uses. CHANCE® foundation products
are designed to resist both lateral forces and overturning moments from wind loads.

Other benefits include:

= Variable base plate design to accommodate various bolt circle poles
= Wire holes for 1” conduit

= Ground lug hole - no ground rod needed

BOLLARD FOUNDATIONS

7

Catalog Lengath Bolt Circle Hardware Hardware Weight
No. 9 (in) Size Package (Ib)
T1120913 3 3” - 5-1/2” 1/2” x 2-1/4” N/A 27
T1120620 3 47 - 8” 1/2” x 2-1/4” N/A 27
/ 3-1/2” STREETLIGHT FOUNDATIONS
Catalog Lenath Bolt Circle Hardware Hardware Weight
No. 9 (in) Size Package (Ib)
T1120142 5-3/8’ 5-1/4” - 8” 3/4” x 3-1/2” N/A 75
T1120143 5-3/8’ 5-1/4” - 8-1/2” | 3/4” x 3-1/2” N/A 71
/4 DECORATIVE STREETLIGHT FOUNDATIONS
&
Catalog Lenath Bolt Circle Hardware Hardware Weight
No. 9 (in) Size Package (Ib)
T1120905 4-2/% 6” - 8-1/4” 3/4” x 3-1/2” T1120392 73
T1120338 4-2/% 6” - 8-3/4” 3/4” x 3-1/2” T1120393 66
T11203381903 4-2/3 6” -8” 3/4” x 3-1/2” T1120393 69
T1120514 4-2/% 6” -14” 3/4” x 3-1/2” T1120393 80

Because Hubbell has a policy of continuous product improvement, we reserve the right to change design and specifications without notice.

cg I Since 191E2 ©2017 Hubbell Incorporated | civilconstruction@hubbell.com HUBBELL



6” STREETLIGHT FOUNDATIONS

Catalog Length BoIt_CircIe Ha_ardw_are Hardware Weight
No. (in) Size (in) Package (Ib)
T11203592301 4 8-14 3/4 x 3-1/2 N/A 105
T1120982 4 8-1/2 -12 3/4x3 N/A 109
T1120861 4 9-14 1x4 N/A 107
T1120936 4 8-14 x4 N/A 123
T11206450301 4 7-15 3/4 x 3-1/2 T1120393 154
TN21214 4 9-15 x4 N/A 162
T1120671 5 8-14 3/4 x 3-1/2 N/A 133
CN232JG4VL 5 9-14 x4 N/A 137
T1120438 5 8-1/2 - 15 3/4 x 3-1/2 N/A 160
T1120361 5 9-15 x4 N/A 163
T11206451601 5 7 -12-1/2 3/4 x 3-1/2 T1120393 137
T1120645 5 7-15 3/4 x 3-1/2 T1120393 154
T1120844 7 8-14 3/4 x 3-1/2 N/A 168
T11206450302 7 7-15 3/4 x 3-1/2 T1120393 192
T1121051 7 9-14 1x4 N/A 197
T1120262 7 9-14 x4 N/A 180
8” STREETLIGHT FOUNDATIONS
Catalog Length Bolt_CircIe Halrrdw_are Hardware Weight
No. (in) Size (in) Package (Ib)
T1121624 5 7-14 1x4 (4) POO10705PKG 149
T1121636 5 n-14 1x4 N/A 148
T1120818 5 8-14 1x4 N/A 156
T1120626 5 8-3/4 -17 x4 (4) POO10705PKG 187
C11242NG4VP 5’ n-17 1x 4 N/A 187
T1121009 7 9-1/2 - 14 1x4 N/A 201
T1121052 7 8 -15 1x4 (4) POO10705PKG 187
CN242QG4VP 7’ n-17 1x 4 N/A 227
T1121566 7 n-17 1x4 N/A 162
T1120816 10’ n-14 1x4 N/A 270
T1121215 10’ n-14 1x 4 N/A 274
T1121010 10’ n-17 x4 (4) POO10705PKG 290

Because Hubbell has a policy of continuous product improvement, we reserve the right to change design and specifications without notice.

HUBBELL

CHANCE'
g:; Since 1912

©2017 Hubbell Incorporated | civilconstruction@hubbell.com



10” STREETLIGHT FOUNDATIONS

12*

\

Catalog Length Bolt_CircIe Ha_\rdw_are Hardware Weight
No. (in) Size (in) Package (Ib)
T1120592 5 13-1/2 - 17 1x4 N/A 218
T1120590 7 13-1/2 -17 x4 N/A 280
T1121631 7 13-1/2 - 17 1-1/4 x 4 N/A 315
T1120591 10 13-1/2 -17 x4 N/A 362
T1121083 10 13-1/2 - 16-1/2 1-1/4 x 4 N/A 351
AREA LIGHTING FOUNDATIONS
Catalog Length Bolt_CircIe Ha_rrdw_are Hardware Weight
No. (in) Size (in) Package (Ib)
T1120693 7 6-14 3/4 x 3-1/2 T1120393 103
T1120563 5 8-14 1x 4 N/A 137
T1121119 7 8-14 3/4 x 3-1/2 N/A 159
T1120956 8’ 8-14 3/4 x 3-1/2 N/A 191
T1120564 8’ 8-14 1x 4 N/A 201
T1120565 10° 8-14 1x 4 N/A 225
T1120566 5 9-1/2 - 14 1x 4 N/A 162
T1120567 8’ 9-1/2 - 14 1x 4 N/A 220
T1120568 10’ 9-1/2 - 14 1x 4 N/A 260
1” x 4” Carriage Bolts Ceni.esr”HDoilt

with Nuts

12” Square

Shaft is Slotted to
Accommodate 9.5” to
14” Dia. Bolt Circle

\H\_z.s"
g Note-5

/ 4
8.63 Dia. O.D.
.25” Wall Thickness

14” Dia. Helix

"™ All Radial Sections
NYrmaI to Axis +/- 31

— . 3 :
~— N ) | Pitch
! " t

All Radial Sections
le—"Normal to Axis +/- 3°

3.5” Dia. O.D.

EH

C

.300” Wall Thickness

Square Neck Carriage Bolt,
3/4” x 3-1/2” Lg.
with 3/4” Nut (4 each)

8.75” Square

5.25” to 8.5”
Dia. Bolt Circle

1.25” Dia.
 Note-4

12” Helix

Because Hubbell has a policy of continuous product improvement, we reserve the right to change design and specifications without notice.

C

1

Em

Since 1912

©2017 Hubbell Incorporated | civilconstruction@hubbell.com

®

HUBBELL



FOUNDATION HARDWARE

Ca:lil-og ?::(; Description
PO010747P 3/4 3-1/2” Long Carriage Bolt
450315P 3/4 Hex Nut
450583P 3/4 Round Washer
058331P 3/4 Lock Washer
PSP1120574P 3/4 Retaining Washer
T1121213 3/4 Package of 4 each: 3” Long Carriage Bolt, Round Washer, Hex Nut
T1120392 3/4 Package of 3 each: 3-1/2” Long Carriage Bolt, Round Washer, Hex Nut
T1120393 3/4 Package of 4 each: 3-1/2” Long Carriage Bolt, Round Washer, Hex Nut
1120639 3/4 :Zr’]agcbsagsehzitgicﬁl:JtSJ/T Long Carriage Bolt, Round Washer, Lock Washer, Retain-
20633 3/4 \F/’\?;:Sk:egr]el_oofcéll( wg:hjt’-]g) h(;r;gNstrriage Bolt, Tapped Square Washer, 3” Round
21227 3/4 /1 \lj\?;:skseg;r’e:;X4Nejtc.h: 3-1/2” Long Carriage Bolt for 1” Slot with 3/4” Threads, Round
POO10705P 1 4” Long Carriage Bolt
PO0O10392P 1 2-1/2” Long Hex Head Bolt
P1120562P 1 4” Long Double-Ended Stud
120075P 1 Hex Nut
056410P 1 Round Washer
056411P 1 Lock Washer
PSP1120461P 1 Retaining Washer
POO10705PKG 1 1 each 4” Long Carriage Bolt and Hex Nut
C1120466 1 Package of 4 each: Retaining Washers
120632 1 Package of 4 each: 4” Long Carriage Bolt, Tapped Square Washer, 3” Round Wash-
er, Lock Washer, (5) Hex Nuts
PO0O10870P 1-1/4 4” Long Carriage Bolt
POO10661P 1-1/4 Hex Nut
POO10661P 1-1/4 Hex Nut

Because Hubbell has a policy of continuous product improvement, we reserve the right to change design and specifications without notice.

CHANCE'
g:; Since 1912

©2017 Hubbell Incorporated | civilconstruction@hubbell.com

HUBBELL

®



%//%ANTI-THEFT FOUNDATION (AT)

Catalog No. Description

C11232JG4VLAT 6” Streetlight Anti-Theft Foundation

CN242NG4VPAT 8” Streetlight Anti-Theft Foundation

Remedial Plates with Anti-Theft

Decorative Lighting Universal Anchor Drive Tool Kelly Bar Adapter Shear Pin Digital Torque
Foundation Drive Tool C3030684 630012HD Torque Limiter Indicator
Drive Tool C3030139 C3030044 C3031689
T3030247

%////////% ,,,,,,, FOUNDATION INSTALLING TOOLS

Catalog No. Description Torq(t;:lzz;\ting Wt (Ib)
C3030139 Streetlight Foundation Drive Tool 10,000 20
C3030684 Streetlight Foundation Drive Tool 20,000 49
T3030247 Decorative Lighting Foundation Drive Tool 10,000 16
T3030166N Adapter with 5-1/4” & 7-5/8” Bolt Circle 10,000 1

630013 Kelly Bar Adapter, 2" Hex Kelly Bar 10,000 10

630016 Kelly Bar Adapter, 2-1/4” Square Kelly Bar 10,000 10

630017 Kelly Bar Adapter, 2-1/2” Square Kelly Bar 10,000 9
630011HD Kelly Bar Adapter, 2-1/2” Hex Kelly Bar 10,000 18
630012HD Kelly Bar Adapter, 2-5/8”Hex Kelly Bar 10,000 18
C3030936 Kelly Bar Adapter, 2-1/2” Hex Kelly Bar 15,000 26
C3030937 Kelly Bar Adapter, 2-5/8” Hex Kelly Bar 15,000 26
C3030940 Kelly Bar Adapter, 3” Hex Kelly Bar 15,000 32
C3030955 Kelly Bar Adapter, 2-1/2” Square Kelly Bar 15,000 25
C3030958 Kelly Bar Adapter, 3" Square Kelly Bar 15,000 28
C3030044 Shear Pin Torque Limiter 10,000 54
C3030045 One Carton Shear Pins (Approx. 1,700 Pins) 500 50
C3031689 Digital Torque Indicator (with Display) 30,000 70

Because Hubbell has a policy of continuous product improvement, we reserve the right to change design and specifications without notice.

cg I Since 191E2 ©2017 Hubbell Incorporated | civilconstruction@hubbell.com HUBBELL



Never Compromise™

c E"" CHANCE Civil Construction | 210 North Allen Street | Centralia, MO 65240 | United States of America

Since 1912 ) ) ) ) HUBBELL
‘ ©Copyright 2017 Hubbell Incorporated. Because Hubbell has a policy of continuous product improvement, \ /

we reserve the right to change design and specifications without notice.
Printed in the U.S.A. | CA_04_141_E

chancefoundationsolutions.com



